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Note:

e Answers are as per Answer Keys and Correct Answer Keys as per Notification No. NPSC/C-/AK/2009
dt.31.08.2013 (Answer Keys of NCS, NPS, NSS & Allied Services (Prelims) Examination 2013) and
Notification No. NPSC/C/AK/2009 dt.04.10.2013 (Corrected Answer Keys of NCS, NPS, NSS & Allied
Services (Prelims) Examination 2013).

e Correct answer option has been included for those questions where there was no appropriate answer in
the actual paper, for which the above notifications indicated “equal marks to all”.

NCS Prelims 2013 Questions: [Answer Keys are at the end of the document]

1. In a row of 12 people Seema shifted her place two places towards her right. Her new position is 7" from right.
Then her present position from left is: (A) 6th (B) 5th (C) 8th (D) 7t

2. Which one of the following exhibits triploid nature?
(A) Endosperm nucleus (B) Synergid (C) Zygote (D) Pollen mother cell

3. Regional Rural Banks were established in (A) 1897 (B) 1975 (C) 1974 (D) 1980
4. Which Arab state has introduced the Nitagat Law’? (A) Bahrain (B) Kuwait (C) Oman (D) Saudi Arabia

5. ’Deliverance Day’ was observed by:
(A) Indian National Congress (B) Muslim League (C) Swaraj party (D) Communist party

6. The founder of Wikileaks, Julian Assange, is a/ an:
(A) British journalist (B) American secret agent (C) Australian journalist (D) French news editor

7. The principle of communal representation in India was first introduced by
(A) the Indian Councils Act, 1861 (B) the Indian Councils Act, 1892
(C) the Indian Councils Act, 1909 (D) the Govt of India Act, 1919

8. The Shilloi lake, which is the biggest in Nagaland, located in the district of:
(A) Phek (B) Kohima (C) Tuensang (D) Mon

9. If least common multiple (Icm) and greatest common divisor (gcd) of two number a, b are
respectively 420 and 5 then a2+bh2=
(A) 5025 (B) 4625 (c) 4825 (D) 2425
(B)
10. The present Governor of Nagaland is
(A) Ashwani Kumar (B) Nikhil Kumar (C) Shyamal Dutta (D) K. Shankaranarayanan

11. Which one of the following periodicals was published by Gandhi during his stay in South Africa?
(A) Afrikones (B) Indian Opinion (C) India Gazette (D) Navjivan

12. The per capita income has been low in India because:
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(A) of price rise (B) of regional imbalances
(C) of population growth (D) more people are in rural area

13. What is the maximum number of electrons that can be accommodated in a “M” shell?
(A)8(B)2(C)18(D) 32

14. The molecular formula of common salt is:
(A) KCI (B) Na;S203 (C) NaCl (D) NaNOs

15. Swarajist's policy of walkout was termed as “patriotism in locomotion" by:
(A) S.C. Bose (B) Tej Bahadur Sapru (C) Dr. Zachoria (D) Jawaharlal Nehru

16. Mahatma Gandhi was referred to as ‘Father of the Nation’ first by:
(A) Jawaharlal Nehru (B) Sardar Patel (C) Rabindranath Tagore (D) Subhash Chandra Bose

17. Excise duties are taxes on:
(A) Sale of commaodities (B) Import of commaodities (C) Export of commaodities (D) Production of commodities

18. Choose the right alternative to fill the gap given below:
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19. Who is the Second Vice President of India ?
A) Zakir Hussain (B) V.V. Giri ) GS. Pathak (D) R. Venkataraman

20. First Independence Day was observed on: (A) 26 Jan 1930 (B) 15 Jan 1945 (C) 20 Jan 1931 (D)20 Jan 1932
21. Subhash Chandra Bose was referred to as the “Netaji’ first by: (A) Nehru (B) Patel (C) Gandhi (D) Gokhale

22. India’'s National Anthem ’Jana gana mana’ was first sung in:
(A) 1896 at Calcutta (B) 1911 at Calcutta (C) 1927 at Lahore (D) 1931 at Lucknow

23. In a first deal of its kind, which airline has recently acquired a 24% stake in Jet Airways?
(A) Gulf Air (B) Etihad Airways C Saudi Airlines D Singapore Airlines

24. Silver is combined with sulfur in the ratio 9 : 4. How much sulfur will combine with 153 gm of silver ?
(A) 63 gm (B) 64gm (c) 65gIn (D) 68 gm

25. When an object of mass ‘m’ is accelerating its:
(A) velocity increases (B) velocity decreases (C) speed decreases (D) speed increases

26. When Aurangzeb made a public proclamation of jehad [holy war] against the Hindus of India?
(A) 1 April 1679 (B) 2 April, 1679 (c) 3 April, 1680 (D) 4 April, 1680

27. Nagaland is also called:
(A) Scotland of the East (B) Switzerland of the East (C) Grass land of the East (D) Heaven of the East

28. The Battle of Ghagra took place on:
(A) 6 May, 1529 (B) 7 May, 1529 (C) 8 May, 1530 (D) 9 May, 1531
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29. Who was the bridge between the Bhakti movement of the south and the north?
(A) Ramanuja (B) Kabir (C) Chaitanya (D) Ramananda

30. Slash and Burn is also known as:
(A) Pastoral farming (B ) Plantation farming (C) Jhum farming (D) Sedentary farming

31. *Tahrir Square’, which has become a symbol of democratic protests, is in:
(A) Tripoli, Libya (B) Muscat, Oman (C) Cairo, Egypt (D) Amman, Jordan

32. How many Vedangas are there? (A) 5 (B) 6 (C) 7 (D) 8

33. In February. 2013, who became the first man in cricket history to captain a team in 100 test matches?
(A) Shaun Pollock (B) Ricky Ponting (C) M.S. Dhoni (D) Graeme Smith

34. If x*y=x+y—2xy then the solution of the equation x*2=5%0 is :
(A) -1 B -2 © -3 D) 3

35. At what temperature in both Celsius (°C) and Fahrenheit thermometers show same reading :
(A) 40° (B) -40° (c) 50° (D) 60°

36. The four states that contribute 75% of the production of cotton in India are:
(A) Maharashtra-Tamil Nadu-Madhya Pradesh-Odisha

(B) Gujarat-Maharashtra-Andhra Pradesh-Punjab

(C) Punjab-Andhra Pradesh-Tamil Nadu-Madhya Pradesh

(D) Maharashtra-Odisha-Andhra Pradesh-Tamil Nadu

37. Which of the following statements is true about the 117th Constitution Amendment Bill passed by the Rajya
Sabha on 17 Dec. 2012?

(A) It provides reservation for SCs and STs in government job promaotions.

(B) It provides reservation for OBCs in government job promotions.

(C) It provides reservation for SCs, STs and OBCs in govt. job promotions.

(D) It provides reservation for SCs, STs, and OBCs in jobs in the corporate sector.

38. If 10 persons can complete a work in 18 days, then the number of days required to finish the same job by 12
men is: (A) 15 (B) 14 (C) 13 (D) 12

39. Which one of the following is an ore of aluminum? (A) bauxite (B) magnesite (C) beryl (D) dolomite

40. Babur died in: (A) October, 1530 (B) November, 1530 (c) December, 1530 (D) January,1531

41. The solution for x of a quadratic equation, ax*+bx+c¢=0, is :
b+ I"b: —4 ac b= \."h’:— 4 ac
(A} x= —_ (B) s
4a 24
[, et | S AR
—hxJb 44 ac . —b=Vbh" 44 ac
(C) ,,b, ,\E 3 at h_)) Ao

da 2a

42. What is the name of the world's first complete ‘Bionic Man’ unveiled at London’s science
Museum in Feb. 2013?
(A) Tirex (B) Rex (C) Laika (D) Bion

Page 3 of 14



43. Who was the author of famous Amuktamalyada?
(A) Krishna Deva Raya (B) Devaraya (C) Tirumala Raya (D) Sadasiva Raya

44. The population of Nagaland according to 2011 census is:
(A) 12,44,464 (B) 19,80,602 (C) 24,17,311 (D) 36,48,722

45. In which city was the first all-women post office in India started in March 2013?
(A) Chennai (B) Kolkata (C) Delhi (D) Mumbai

46. Three Annual plans were launched in the years:
(A) 1990-1992 (B) 1950-1952 (C) 1980-1982 (D) 2001-2003

47. Indian tea faces competition from in the international market.
(A) Vietnam (B) UK (C) China (D) Russia

48. Which one of the following forms the largest share of deficit of Govt. of India Budget?
(A') Budgetary deficit (B) Fiscal deficit ( C) Revenue deficit (D) Primary deficit

49. Fiscal policy in India is formulated by:
(A) Reserve Bank of India (B) Planning Commission (C) Finance Commission (D) Finance Ministry

50. Who was the chairman of National Income Committee?
(A) D.R. Gadgil (B) V.K.R.V. Rao (C) P.C Mahalanobis (D) A.M. Khusro

51. Low and very low agricultural efficiency is observed in parts of :
(A) Madhya Pradesh (B) Gujarat (C) Andhra Pradesh (D) Tamil Nadu

52. The Santhals are mainly residents of : (A) Central India (B) Bengal (C) Satpura Ranges (D) Sikkim
53. Who among the following was honoured with ‘Life time Achievement Award’ at the 55th
Grammy’s in Feb. 2013?

(A) A.R. Rahman (B) Pt. Bhimsen Joshi (C ) Pt. Ravi Shankar D Lata Mankeshkar

54. If TENT is coded as UVFGOPUYV then TILE is coded as :
(A) UVILMNFG (B) UVFGMNJIK (C) UVIKMNFG (D) UVIKOPFG

55. Gilt - edged market means :
(A) Market of pure metals (B) Market of government securities (C) Market of guns (D) None of these

56. Sarada Act was passed with effect from the year : (A) 1929 (B) 1930 (C) 1931 (D) 1932

57. The number of ways that the letters of the word MANAGEMENT can be arranged is :
(A) 258000 (B) 332000 (C) 228600 (D) 226800

58. An “All parties conference’ under the presidentship of Dr. M.A. Ansari was called at Delhi in 1928 to consider
(A) Political Reforms (B) Legal Reforms (C) Administrative Reforms (D) Constitutional Reforms

59. Who presented the first Union Budget of Independent India?
(A) T.T. Krishnamurthy (B) John Mathai (C) R.K. Shanmukham Chetty (D) Morarji Desai
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60. Kyong Lotha tribes of Nagaland celebrates : (A) Moatsu (B) Tuluni (C) Mongmong (D) Tokhu Emong

61. First President of Indian National Congress:
(A) Jawaharlal Nehru (B) Mahatma Gandhi (C) W.C. Bannerjee (D) J.B. Kriplani

62. The post of a High commissioner for India in England was created by:
(A) the Govt. of India Act, 1919 (B) the Govt of India Act, 1935
(C) Indian Independence Act, 1945 (D) the Indian Councils Act, 1909

63. Who constructed Kailasanatha temple at Kanchi ?
(A) Mahendravarma (B) Vikramaditya (C) Pulakesin-II (D) Rajasimhan

64. The Sun temple at Konark was constructed in the reign of :
(A) Prataparudra Gajapati (B) Narashimhadev (C) Dharmapala (D) Harsha

65. Diamond is an allotropic form of : (A) selenium (B) phosphorous (C) sulphur (D) carbon

66. Agriculture income tax is assigned to state government by:
(A) Finance commission (B) National Development Council (C) Inter-State Council (D) Constitution of India

67. The Indian Independence Bill was passed by the British Parliament on :
(A) 1 July, 1947 (B) 2 July, 1947 (C) 3 July, 1947 (D) 4 July, 1947

68. Swami Dayanand was born in :
(A) Baroda (B) Ahmedabad (C) Porbandar (D) Tankara

69. The device that can hold most data among the following is :
(A) Blue Ray disc (B) DVD (C) CD-ROM (D) VCD

70. The number of 2's that succeed 1 or precede 1 in the following number is
21721142681235
(A)1(B)2(c)3(D)4

71. The area of India is:
(A) 3,287,240 sg.kms. V (B) 2,803,936 sg.kms. (C) 3,144,004 sg.kms. (D) 2,904,875 sq.kms.

72. India isthe __ producer of sesamum in the world.
(A) 1st (B) 2nd (C) 3rd (D) 4"

73. On 15 January 2013, which Pakistani Prime Minister was ordered to be arrested by the
Supreme Court of Pakistan ?
(A) Parvez Musharraf (B) Asif Ali Zardari (C) Yousuf Raza Gillani (D) Raja Parvez Ashraf

74. Yemshe is a festival of Nagaland, celebrated by the tribe. (A) Konyak (B) Phom (C) Pochury (D) Sangtam
75. Asexual reproduction in yeasts takes place by : (A) Fission (B) Sporulation (C) Fragmentation (D) Budding
76. Nagaland is within the jurisdiction of which High Court?

(A) Shillong High Court (B) Guwahati High Court (C) Kolkata High Court (D) Manipur High Court

77. The organelle referred to as ‘power house of the cell’ is:
(A) Chloroplast (B) Mitochondria (C) Nucleus (D) Ribosome
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78. Which one of the following is the largest planet ? (A) Mars (B) Uranus (C) Jupiter (D) Venus
79 The official language of Nagaland is : (A) Bengali (B) English (C) Hindi (D) Assamese

80. Which newspaper first published whistle blower Edward Snowden's exposes of the internet
surveillance programmes of the US and the UK ?

(A) The Guardian (B) The New York Times (C) The Independent (D) The Washington Post

81. Who was the chief architect of Taj Mahal?
(A) Ustad Ahmad Lahauri (B) Nizamuddin (C) Abul Fazl (D) Abdul Hamid

82. The maximum metabolic rate is found in: (A) elephant (B) rabbit (C) whale (D) man
83. The number of ribs present in human body is : (A) 10 (B) 12 (C) 24 (D) 36
84. The rivers of ___India do less deposition: (A) North (B) South (C) East (D) West

85. The Sultan who held religious discourses with Acharya Mahasena of Karnataka was
(A) Balban (B) Alauddin Khilji (C) Muhammad-bin-Tughlug (D) Ibrahim Lodi

86. Rudimentary sedentary farming is practised in : (A) Tamil Nadu (B) Rajasthan (C) Tripura (D) Gujarat

87. Which Indian tyre company recently acquired the US—based Cooper Tire and Rubber Company ?

(A) MRF (B) CEAT (C) JK Tyres (D) Apollo Tyres

88. The word different from others among the following is : (A) Wood (B) Cork (C) Paper (D) Stone

89. The State Bird of Nagaland is :
(A) Hornbill (B) Tragopan (C) Brown-capped Laughingthrus (D) None of these

90. ‘The Cripps Mission was a post dated cheque drawn on a Crashing bank’, said by :
(A) Jawaharlal Nehru (B) Dr. B.R. Ambedkar (C) Mahatma Gandhi (D) Sardar Patel

91. National Sample Survey was established in : (A) 1950 (B) 1943 (C) 1951 (D) 1952

92. Who introduced the Cooperative Society in India ?
(A) Lord Curzon (B) Lord Wavell (C) Lord Rippon (D) Lord Cornwallis

93. The unit of radioactive disintegration is : (A) Semen (B) Fermi (C) Newton (D) Curie

94. The Constituent Assembly of India was set up according to the proposals of :
(A) the Cripps Mission (B) the Mountbatten plan (C ) the Rajaji plan (D) the Cabinet Mission

95. In December 2012, who took over as the Chairman of Tata Group ?
( Ratan Tata (B) Cyrus Broacha (C ) Pallonji Shapoorji Mistry (D) Cyrus Pallonji Mistry

96. The main destination of exports from India is : (A) UK (B) UAE (C) japan (D) China

97. The disease caused by virus is :
(A) polio (B) tuberculosis (C) typhoid (D) diptheria
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98. Financial Sector Reforms are suggested by :

(A) Narasimham committee (B) Abid Hussain committee

(C) Chelliah committee (D) Bhagwathi committee

99. How many members of Muslim League joined the Interior Government ? (A) Five (B) Four Three (D) Six

100. Who was the Rani (Queen) of Nagaland during British Rule ?
(A) A.Z. Phizo (B) Isaak (C) Gaidinliu (D) Muivah

101. Bilhana was the author of : (A) Harsha charitra (B) Vikramanka charitra (C)Raatarangini (D) Kamasutra

102. The wavelength of light in visible light mostly absorbed by chlorophyll falls in this region :
(A) green (B) yellow (C) red (D) orange

103. When was Focus Market Scheme introduced? (A) 2003-04 (B) 2006-07 (C) 2004-05 (D) 2005-06

104. On 31 Dec. 2012, the US Food and Drug Administration (FDA) approved a new drug (the first in 40 years)
to treat tuberculosis. Who is the manufacturer of the drug?

(A) Reddy Laboratories (B) Ranbaxy (C) Johnson and Johnson (D) Pfizer

105. Electronic device used for rectification is: (A) diode (B) transistor (C) resistor (D) inductor

106. Rubber plantation in India occur in: (A) Eastern Ghats (B) Western Ghats (C) Aravallis (D) N.E. India

107. Castor seed is mainly produced by: (A) Andhra Pradesh (B) Gujarat (C) Rajasthan (D) Karnataka

108. The per capita income in India was Rs. 20 in 1857-68, was ascertained for the first time by:
(A) M.G. Ranade (B) R.C. Dutta (C) Sir. W. Hunter (D) Dadabhai Naoroji

109. If x+2y=3z and xyz=1 then x3+8y3-27z3=
(A)-9 (B)—18(<3) 18 (D) 9

110. The number of FADH2 molecules generated in one turn of Kreb’s cycle is:
(A) four (B) two (C) three (D) one

111. If 5 Sin ®=4 then sec ©- cosec ® = (A) 3/11 (B) 5/11 (C) 7/12 (D) 11/12

112. The Nobel Peace Prize 2012 was awarded to:
(A) Malala Yonsafzai (B) The European Union (C) The United Nations (D) Helmut Kohl

113.Where was the world's largest biogas plant inaugurated in Mar. 2013?
(A) Switzerland (B) Iceland (C) Finland (D) Germany

114.The part of human brain which is related to learning is :

(A) hypothalamus (B) medulla (C) cerebellum (D) cerebrum

115. The highest point of Nagaland is:
(A) Mount Etna (C) Mount Sararnati (D) Mount Pinatubo Mount Vesuvius

116. A deficit state to which wheat moves is :
(A) Jammu and Kashmir (B) Bihar (C) Himachal Pradesh (D) MP
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117. If x+y=7 and x3+y3=72 then xy: (A) 6 (B)8 (C)10 (D)12
118. The first Green Village in Nagaland :(A) Visema (B) Jakhama (C)Zakhama (D)Khonoma
119. Who taught the four “Noble Truths”?(A) Bimbisara (B) Ajathasatru (C)Buddha (D)Mahavira

120. Hindustan Socialist Republican Association in 1928 was started by:
(A) Subhash Chandra Bose (B) Bhagat Singh (C) Chandra Sekhar Azad (D) Sukhdev

121. Coffee plantations are mainly in (A) Karnataka (B)Kerala (C) Tamil Nadu (D) Assam

122. Who constructed the city of Tughlagabad? (A) lltutmish (B) Razia (C) Balban (D) Ghiyasuddin Tughlug
123. A person is moving with uniform velocity in a car. He has thrown a stone up in the air. Then :

(A) stone falls back into his hand (B) stone falls behind the car

(C) stone falls in front of the car (D) stone disappears and will not fall back

124. Mahayana means : (A) Bliss (B) Inferior vehicle (C) Superior or great vehicle (D) None

125. The number of Assembly Constituencies of Nagaland is : (A) 52 (B) 60 (c) 71 (D) 45

126. The largest percentage of total population in poverty is in India.
(A) South (B) East (C) Central (D) West

127. Pakistan Resolution was passed by Muslim League in the
(A) Islamabad session (B) Lahore session (C) Dacca session (D)Lucknow session

128. Foreign currency which has tendency of quick migration is called ?
(A) Scarce currency (B) Hot currency (C) Soft currency (D) Gold currency

129. Pulses are largely grown in: (A)MP (B)Haryana (C) Jharkand (D)West Bengal

130. Nagaland State came int existence as a result of which amendment in the Indian Constitution?
(A) 14" amendment (B) 15" amendment (C) 12" amendment (D) 13 " amendment

131. The Nagaland University was established on :
(A) September 6, 1994 (B) November 5, 1995 (C) October 6, 1990 (D) January 15, 1991

132. Excess of public expenditure over public revenue leads to :
(A) Deficit (B) Capital formation (C) Tax reduction (D) Surplus creation

133. Who among the following was recently honoured with France's highest civilian award, "Commander de la
Legion d’Honneur” ?
(A) Montek Singh Ahluwalia (B) Amartya Sen (C) Pandit Ravi Shankar (D) Lakshmi Niwas Mittal

134. Moplah rebellion was started in the year : (A) 1922 (B) 1920 (C) 1921 (D) 1919
135. Where did the National Aluminium CO. Ltd (NALCO) commission its first wind power project in January

2013 ?
(A) Guijarat (B) Tamil Nadu (C) Andhra Pradesh (D) Rajasthan
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136. A part of the central processing unit (CPU) among the following is : (A) ALU (B) cou (c) EGA APA

137. Simon Commission was meant to suggest :
(A) Political Reforms (B) Legal Reforms (C) Institutional Reforms (D) Constitutional Reforms

138. If 2 is added to both the numerator and denominator of a fraction a/b, then it reduces to Y. Then 4a—b.
A0B)1(C)2(D)-1

139. The word that suits the following gap is : Cobbler : Leather : : Carpenter :
(A) Furniture (B) Wood (C) Tree (D)Hammer

140. The Reserve Bank of India is planning to introduce plastic currency notes on a trial basis. What will be the
denomination of these notes ?
(A) Rs. 1000 (B) Rs. 500 (C) Rs. 100 (D) Rs.10

141. The suitable number that fills the gap in the following is : 5, 11, 24, 49, 100, 201,
(A) 400 (B) 404 (C) 402 (D)405

142. Nirgranthas means : (A) Heroes (B) Free from fetters (C) Priests (D) Conquerors

143. Pastures and grazing lands are in highest proportion in :
(A) Karnataka (B) Bihar (C) Kerala (D) Himachal Pradesh

144. Who is the founder and author of a set of alphabet known as Naga Alphameric ?
(A) N. Haisoyi (B) R.S. Lungalang (C) Melhite Kenye (D) Monalisa Changkija

145. Who was awarded the Jnanpith Award for 2012 ?
(A) Pratibha Ray (B) C. Narayana Reddy (C) Chandrashekhara Kambara (D) Ravuri Bharadwaja

146. In which year Gandhi founded the Sabarmati Ashram at Ahmedabad ? (A) 1913 (B) 1914 (C) 1915 (D) 1912

147. For whom did Valentine Chirol say. 'He was father of Indian Unrest’ :
(A) Bhagat Singh (B ) B.G. Tilak (C ) Lala Lajpat Rai (D) Chandra Sekhar Azad

148. The substance which accumulates in muscle in fatigue condition is :
(A) pyruvic acid (B) lactic acid (C) carbonic acid (D) oxalic acid

149. The highest cropping index is in :
(A) West Bengal (B) Tamil Nadu (C) Punjab (D) Haryana

150. India exports Basmati rice to . (A) USA (B) UAR (C) Gulf Countries (D) Caribbean Islands
151. Choose the odd one among the following (A) Heart (B) Lung (C) Spade (D) Club

152. Which sport among the following is proposed to be dropped from 2020 Olympic Games ?
(A) Fencing (B) Judo (C) Wrestling (D) Boxing

153. High concentration of citric acid is found in the fruit : (A) grapes (B) banana (C) custard apple (D) orange

154. If wall is related to brick then cloth is related to : (A) Fibre (B) Fabric (C) Texture (D) Pulp
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155. Wet Farming is practiced in : (A) Bengal (B) Tamil Nadu (C) Punjab (D) Assam

156. Development expenditure of the Central Government does not include :
(A) Grant to states (B) Expenditure on economic services (C) Defence expenditure (D) Expenditure on social and
community services

157. The largest producer of Jowar in India is :
(A) Maharashtra (B) Karnataka (C) Andhra Pradesh (D) Rajasthan

158. The number of four digit numbers that can be formed with the digits 0, 1, 2, 3, with no digit being repeated,
is: (A) 256 (B) 192 (c) 24 (D) 18

159. Which Article in Indian Constitution has a special provision for Nagaland ?
(A) 323A (B) 294 (C) 371A (D) 278

160. She was the first female head of a national government in Europe. She died in April 2013. Who is she ?
(A) Angela Merkel (B) Margaret Thatcher (C) Dilma Rousseff (D) Gro Harlem Bruntland

161. The most appropriate measure of a country's economic growth is :
(A) Gross Domestic product (B) Net Domestic product (C) Net National product (D) Per Capita Real Income

162. Montague - Chelmsford Reforms came into operation in the year : (A) 1919 (B) 1920 (C) 1921 (D) 1922

163. The union cabinet in June 2013 has approved India's bid to host :
(A) Olympics 2020 (B) 2019 Cricket World Cup (C) Hockey Junior World Cup in 2017 (D) Under 17 World Cup
Football in 2017

164. In a row, Rahul is 7th from left and 9™ from right. How many are standing in the row?
(A) 16 (B) 15 (C) 18 (D) 17

165. The highest area under tobacco is in : (A ) Andhra Pradesh (B) Gujarat ( C) Karnataka (D) Uttar Pradesh

166. Who restricted the liberty of the Indian Press by the Vernacular Press Act, 1878 ?
(A) Ripon (B) Curzon (C) Lytton (D) None of the above

167. Which of the following city is also known as "Highland of Nagaland”?
(A) Tuensang (B) Kohima (C) Dimapur (D) Phek

168. SEBlisa:
(A) Advisory body (B) Constitutional body (C) Statutory body (D) None of these

169. Ajivikas were the followers of : (A) Buddha (B) Mahavira (C) Gosala (D) Krishna

170. Which of the following statement/s is/are true about the low-cost Aakash Version 2.0 tablet ?

(i) It was released by the President of India, Pranab Mukherjee.

(it) It was launched on 11 Nov. Z012 on the occasion of National Education Day.

(m) It has a 9 inch touch screen.

(iv) It was unveiled at the UN by Secretary General Ban Ki-moon.

(A) Only (i) is true (B) Only (i), (iii), (iv) are true (C) All four are true (D) Only (i), (ii) and (iv) are true
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171. Which country has joined the European Union on 1st July 2013 as its 28th mem er?
(A) Turkey (B) Slovenia (C) Croatia (D) Kosovo

172. International Tea Producers’ Forum (ITPF), formed recently on the lines of OPEC, will be initially
headquartered in : (A) Delhi (B) Beijing (c) Colombo (D) Nairobi

173. Harappa city was situated in: (A) Punjab (B) Sind (C) Bengal (D) Rajasthan

174. Who has assumed office on 1 July 2013 as President of Carnegie Mellon University, USA ?
(A) Dr. Subra Suresh (B) Dr. Jared L. Cohen (C) Dr. Subramanian Swamy (D) Dr. Suresh Prabhu

175. Number of National Park and Wildlife Sanctuaries in Nagaland is :
(AYland4 (B)2and5(C)1land 3 (D)2 and 6

176. In which year did Pt. Jawaharlal Nehru visited Nagaland? (A) 1956 (B) 1953 (C) 1954 (D) 1955

177. Magnification of a lens is 2. The size of the object before lens is 5 cm. The image size is :
(A)10cm (B) 25cm (C) 6 cm (D) 8 cm

178. India is the leading producer of cotton yarn and textiles in the world:
(A) First (B) Second (C) Third (D) Fourth

179. How many temples has the Khajuraho group? (A) 28 (B) 29 (C) 25 (D) 31

180. 500 ml of a solution contains 0.2 moles of solute. What is the molarity of this solution ?
(A)0.2M (B) 0.4 M (C) 0.2/500 M (D) 0.8 M

181. In Nagaland, Monyu is the festival of : (A) Phom (B) Konyak (C) Chakhesang (D) Rengma

182. CNG stands for:
(A) compressed native gas (B) combustible natural gas (C) compressed natural gas (D) None of these

183. Which among the following is not a ’candidate city’ for holding Olympic Games in 20207
(A) Buenos Aires (B) Istanbul (C) Tokyo (D) Madrid

184. ‘Nationalism is the religion that comes from God’, this was said by:
(A) B.G. Tilak (B) Vivekananda (C) Aurobindo Ghosh (D) Mahatma Gandhi

185. Decimal coinage was introduced in India in the year : (A) 1957 (B) 1950 (C) 1950 (D) 1955
186. Find the missing number in the following sequence 0, 6, 24, 60, 120, 210,
(A) 357 (B) 350 (C) 336 (D) 334

187. Poverty in less developed countries is largely due to:
(A) Voluntary idleness (B) Income inequality (C) Lack of cultural activities (D) Lack of intelligence of the people

188. Suitable group of letters that fill the gap in: QSTP : SUVR ::TMPA: is :
(A) VOCR (B) VCOR (c) VCRO (D) VORC

189. Who founded the Khalsa?
(A) Guru Nanak (B) Guru Gobind Singh (C) Guru Hargobind (D) Guru Tegh Bahadur
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190. Doyang river of Nagaland flows through the middle of which District?
(A) Kohima (B) Wokha (C) Peren (D) Tuensang

191. In Early Vedic Age the business of the tribe was carried out in a popular assembly known
as : (A) Samiti (B) Sabha (C) Sreni (D) None of the above

192. National Income Estimates in India are prepared by:
(A) CSO (B) RBI (C) Finance commission (D) Finance Ministry

193. The Muslim league passed the famous Pakistan Resolution in the year: (A) 1939 (B) 1940 (C) 1941 (D) 1942

194. Mahatma Gandbhi started his political activities first from:
(A) Bardoli (B) Kheda (C) Champaran (D) Ahmedabad

195. If a person starts at a point P, and travels 3 km towards East and then travels 5 km towards
North east and finally travels 4 km North and reaches the point Q, then the distance (in km)
between PQ is: 12 (B) 10 (C) 8 (D) 9

196. Half of the total area under floriculture is in :
(A) Jammu and Kashmir, Himachal Pradesh and Haryana (B) West Bengal, Bihar and Himachal Pradesh
(C) Haryana, Punjab and Odisha (D) Tamil Nadu, Karnataka and Andhra Pradesh

197. Who announced that the goal of British policy in India was the grant of the Dominion Status?
(A) Lord Curzon (B) Lord Mountbatten (C) Lord Hardinge (D) Lord Irwin

198. The world famous Kailas temple at Ellora is a specimen of:
(A) Dravidian Style (B) Pallava Style (C) Gandhara Style (D) None

199. Highest yield of maize is in: (A) Karnataka (B) Haryana (C) Punjab (D) Bihar
200. Economic liberalisation in India started with:

(A) The convertibility of Indian Rupee (B) Substantial changes in industrial licensing policy
(C) Significant Reduction in tax rates (D) Foreign direct investment
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Answer Keys:

Q.No. | Keys | Remarks | Q.No. | Keys | Remarks | Q.No. | Keys Remarks (If Any) | Q.No. | Keys | Remarks
(If Any) (If Any) (If Any)
1A 51 | A 101 | B 151 | B
21 A 52 | B 102 | C 152 | C
3|B 53| C 103 | B 153 | D
4D 54 | C 104 | C 154 | A
5/B 55| B 105 | A 155 | A
6|C 56 | B 106 | B 156 | C
71C 57 | D 107 | B 157 | A
8 A 58 | D 108 | D 158 | D
9|C 59 | C 109 | B 159 | C
10 A 60 | D 110 | D 160 | B
11| B 61| C 111 | B 161 | D
12 | D 62 | A 112 | B 162 | C
13|C 63 | D 113 | C 163 | D
14 | C 64 | B 114 | D 164 | B
15| B 65 | D 115 | C 165 | B
16 | D 66 | D 116 | B 166 | C
17 | D 67 | D 117 | Equal Answer is not in the 167 | B
Marksto | options. Answer
All =271/21
18| C 68 | D 118 | D 168 | C
191 A 69 | A 119 | C 169 | C
20 | A 70 | C 120 | Equal 170 | D
Marks to
All
21| C 71 | A 121 | A 171 | C
22 | B 72 | A 122 | D 172 | C
23| B 73| D 123 | A 173 | A
24 | D 74 | C 124 | C 174 | A
25| A 75 | D 125 | B 175 | A
26 | B 76 | B 126 | B 176 | B
27 | B 77| B 127 | B 177 | A
28 | A 78 | C 128 | B 178 | B
29 | D 79 | B 129 | A 179 | C
30| C 80 | A 130 | D 180 | B
31| C 81| A 131 | A 181 | A
32| B 82 | B 132 | A 182 | C
33|D 83| C 133 | B 183 | A
34|C 84 | D 134 | C 184 | C
35| B 85| B 135 | C 185 | A
36 | B 86 | C 136 | A 186 | C
37 | A 87 | D 137 | D 187 | B
38| A 88 | D 138 | C 188 | D
39| A 89 | B 139 | B 189 | B
40 | C 9 | C 140 | D 190 | B
41 | B 91 | A 141 | B 191 | A
42 | B 92 | A 142 | B 192 | A
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